MCR 3UlI Unit 7 lesson 2 Homework: Graphing Trigonometric Functions -- Solutions

1. Complete the following table of properties for the graphs of y = sin x and Y = COS X.

Property y=sinx y = C0s X
Maximum Value 1 1
Minimum Value -1 -1
Ampilitude 1 1

Domain {xeR} {xeR}
Range {yeR}-1<y<1} {yeR |-1Zy<1}
x-intercepts {in first cycle) 0°, 180°, 360° 90°, 270°
y-intercepts {in first cycle) 0 1
Intervals of increase {0°< x<90° }, { 180° < x<360° }
{over one cycle) { 270° < x< 360° }

Intervals of decrease {90°< x<270° } {0°< x<180°}
{over one cycle)
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